Project #77114: Green Valley Road at Weber Creek Bridge Replacement Project

Contract No.PW 13-30685Project No.77114Project TypesBridge Replacement Project								Begin Advertisement: Bid Opening: Anticipated Award:		9/16/14 11/12/14 12/02/14				
					VIKING CONSTRUCTION COMPANY, INC.		MCM CONSTRUCTION, INC.		MJ HUGHES CONSTRUCTION, INC.		MYERS AND SONS CONSTRUCTION, LP.		CC MYERS, INC.	
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
1	070012	Progress Schedule (Critical Path Method)	LS	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.0
2	070030	Lead Compliance Plan	LS	1	\$2,750.00	\$2,750.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.0
3	071325	Temporary Fence (Type ESA)	LF	1,800	\$5.00	\$9,000.00	\$5.00	\$9,000.00	\$5.00	\$9,000.00	\$3.50	\$6,300.00	\$3.50	\$6,300.0
4	074016	Construction Site Management	LS	1	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$300,000.00	\$300,000.00	\$169,992.40	\$169,992.4
5	074019	Prepare Storm Water Pollution Prevention Plan	LS	1	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.0
6	074020	Prepare Fugitive Dust Control Plan	LS	1	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.0
7	074045	Temporary Creek Diversion System	LS	1	\$65,000.00	\$65,000.00	\$120,000.00	\$120,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$120,000.00	\$120,000.0
8	120090	Construction Area Signs	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.0
9	120100	Traffic Control System	LS	1	\$125,000.00	\$125,000.00	\$195,000.00	\$195,000.00	\$70,000.00	\$70,000.00	\$300,000.00	\$300,000.00	\$210,000.00	\$210,000.0
10	120159	Temporary Traffic Stripe (Paint)	LF	3,375	\$1.25	\$4,218.75	\$0.50	\$1,687.50	\$2.00	\$6,750.00	\$0.50	\$1,687.50	\$1.10	\$3,712.8
11	129000	Temporary Railing (Type K)	LF	1,480	\$18.00	\$26,640.00	\$1.00	\$1,480.00	\$33.00	\$48,840.00	\$1.00	\$1,480.00	\$1.00	\$1,480.0
12	129110	Temporary Crash Cusion System (Elements)	EA	30	\$350.00	\$10,500.00	\$100.00	\$3,000.00	\$250.00	\$7,500.00	\$100.00	\$3,000.00	\$100.00	\$3,000.0
13	150714	Remove Thermoplastic Traffic Stripe	LF	3,636	\$1.25	\$4,545.00	\$0.50	\$1,818.00	\$1.50	\$5,454.00	\$1.00	\$3,636.00	\$1.10	\$3,999.6
14	150742	Remove Roadside Sign	EA	11	\$100.00	\$1,100.00	\$100.00	\$1,100.00	\$100.00	\$1,100.00	\$125.00	\$1,375.00	\$110.00	\$1,210.0
15	150812	Remove Pipe	LF	171	\$100.00	\$17,100.00	\$40.00	\$6,840.00	\$15.00	\$2,565.00	\$40.00	\$6,840.00	\$40.00	\$6,840.0
16	152255	Reset Mailbox	LS	1	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$159.00	\$159.00	\$2,000.00	\$2,000.00	\$425.00	\$425.0
17	152303	Reset Markers and Delineators	EA	10	\$65.00	\$650.00	\$65.00	\$650.00	\$25.00	\$250.00	\$35.00	\$350.00	\$70.00	\$700.0
18	152390	Relocate Roadside Sign	EA	6	\$170.00	\$1,020.00	\$170.00	\$1,020.00	\$500.00	\$3,000.00	\$250.00	\$1,500.00	\$175.00	\$1,050.0
19	153103	Cold Plane Asphalt Concrete Pavement	SY	137	\$60.00	\$8,220.00	\$20.00	\$2,740.00	\$25.00	\$3,425.00	\$20.00	\$2,740.00	\$22.00	\$3,014.0
20	153531	Access Opening (Soffit)	EA	2	\$350.00	\$700.00	\$300.00	\$600.00	\$2,800.00	\$5,600.00	\$3,000.00	\$6,000.00	\$600.00	\$1,200.0

14-1320 2C 1 of 5

Project #77114: Green Valley Road at Weber Creek Bridge Replacement Project

Contract No		PW 13-30685					-	Begin Advertisement:		9/16/14				
Contract No. Project No.		77114					-	Bid Opening: Anticipated Award:		11/12/14 12/02/14				
Project Type	S	Bridge Replacement Project			_		-	Anticipated Award.		12/02/14				
_				VIKING CONSTRUCTION COMPANY, INC.		MCM CONSTRUCTION, INC.		MJ HUGHES CONSTRUCTION, INC.		MYERS AND SONS CONSTRUCTION, LP.		CC MYERS, INC.		
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
21 F	157550	Bridge Removal	LS	1	\$100,000.00	\$100,000.00	\$80,000.00	\$80,000.00	\$30,000.00	\$30,000.00	\$85,000.00	\$85,000.00	\$65,000.00	\$65,000.00
22	160101	Clearing & Grubbing	LS	1	\$125,000.00	\$125,000.00	\$110,000.00	\$110,000.00	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$178,000.00	\$178,000.00
23	170101	Develop Water Supply	LS	1	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
24 F	190101	Roadway Excavation	CY	3,453	\$42.00	\$145,026.00	\$185.00	\$638,805.00	\$31.00	\$107,043.00	\$175.00	\$604,275.00	\$180.00	\$621,540.00
25 F	192003	Structure Excavation (Bridge)	CY	1,016	\$275.00	\$279,400.00	\$155.00	\$157,480.00	\$125.00	\$127,000.00	\$150.00	\$152,400.00	\$250.00	\$254,000.00
26 F	192055	Structure Evacuation (Retaining Wall No. 1)	CY	1,043	\$180.00	\$187,740.00	\$150.00	\$156,450.00	\$150.00	\$156,450.00	\$150.00	\$156,450.00	\$150.00	\$156,450.00
27 F	192055	Structure Evacuation (Retaining Wall No. 2)	CY	155	\$140.00	\$21,700.00	\$130.00	\$20,150.00	\$100.00	\$15,500.00	\$125.00	\$19,375.00	\$130.00	\$20,150.00
28 F	193003	Structure Backfill (Bridge)	CY	2,310	\$100.00	\$231,000.00	\$75.00	\$173,250.00	\$65.00	\$150,150.00	\$75.00	\$173,250.00	\$75.00	\$173,250.00
29 F	193013	Structure Backfill (Retaining Wall No. 2)	CY	225	\$100.00	\$22,500.00	\$75.00	\$16,875.00	\$65.00	\$14,625.00	\$75.00	\$16,875.00	\$75.00	\$16,875.00
30	197003	Contour Grading	CY	1,700	\$30.00	\$51,000.00	\$65.00	\$110,500.00	\$135.00	\$229,500.00	\$65.00	\$110,500.00	\$63.00	\$107,100.00
31	197021	Earth Retaining Structure (Gabion MSE Retaining Wall No. 1)	SF	7,250	\$105.00	\$761,250.00	\$120.00	\$870,000.00	\$80.00	\$580,000.00	\$120.00	\$870,000.00	\$118.00	\$855,500.00
32 F	198010	Imported Borrow	CY	7,672	\$40.00	\$306,880.00	\$25.00	\$191,800.00	\$15.00	\$115,080.00	\$25.00	\$191,800.00	\$25.00	\$191,800.00
33	203031	Erosion Control (Hydroseed)	SY	1,501	\$2.00	\$3,002.00	\$1.00	\$1,501.00	\$2.00	\$3,002.00	\$0.50	\$750.50	\$2.00	\$3,002.00
34	203034	Rolled Erosion Control Product (Blanket)	SY	217	\$8.00	\$1,736.00	\$5.00	\$1,085.00	\$10.00	\$2,170.00	\$5.00	\$1,085.00	\$7.00	\$1,519.00
35	204099	Plant Establishment Work	LS	1	\$20,000.00	\$20,000.00	\$4,250.00	\$4,250.00	\$17,000.00	\$17,000.00	\$10,000.00	\$10,000.00	\$52,000.00	\$52,000.00
36	208604	10" Plastic Pipe (Schedule 40)	LF	47	\$50.00	\$2,350.00	\$25.00	\$1,175.00	\$70.00	\$3,290.00	\$75.00	\$3,525.00	\$25.00	\$1,175.00
37	260201	Class 2 Aggregate Base	CY	780	\$75.00	\$58,500.00	\$120.00	\$93,600.00	\$60.00	\$46,800.00	\$120.00	\$93,600.00	\$110.00	\$85,800.00
38	390133	Hot Mix Asphalt (Type A, PG 64- 16)	TON	659	\$135.00	\$88,965.00	\$140.00	\$92,260.00	\$115.00	\$75,785.00	\$140.00	\$92,260.00	\$135.00	\$88,965.00
39	390138	Rubberized Hot Mix Asphalt (Open Graded)	TON	246	\$170.00	\$41,820.00	\$150.00	\$36,900.00	\$140.00	\$34,440.00	\$150.00	\$36,900.00	\$140.00	\$34,440.00
40	394073	Place Hot Mix Asphalt Dike (Type A)	LF	242	\$10.00	\$2,420.00	\$7.00	\$1,694.00	\$16.00	\$3,872.00	\$6.50	\$1,573.00	\$6.50	\$1,573.00
41	394074	Place Hot Mix Asphalt Dike (Type C)	LF	53	\$10.00	\$530.00	\$10.00	\$530.00	\$17.00	\$901.00	\$12.50	\$662.50	\$13.00	\$689.00

14-1320 2C 2 of 5

Project #77114: Green Valley Road at Weber Creek Bridge Replacement Project

								Begin Advertisement:		9/16/14	<u>.</u>			
Contract No.		PW 13-30685					•	Bid Opening:		11/12/14	-			
Project No.		77114						Anticipated Award:		12/02/14	-			
Project Types Bridge Replacement Project				VIKING CONSTRUCTION COMPANY, INC. MCM CONS			ISTRUCTION, INC. MJ HUGHES CON		MYERS AND SONS CONSTRUCTION, LP.		CC MYERS, INC.			
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
42	394077	Place Hot Mix Asphalt Dike (Type F)	LF	464	\$10.00	\$4,640.00	\$6.00	\$2,784.00	\$18.00	\$8,352.00	\$6.00	\$2,784.00	\$6.00	\$2,784.0
43	394090	Place Hot Mix Asphalt (Miscellaneous Area)	SY	9	\$300.00	\$2,700.00	\$100.00	\$900.00	\$30.00	\$270.00	\$100.00	\$900.00	\$100.00	\$900.00
44	460300	Soil Nail (#8 Nails)	LF	1,844	\$32.50	\$59,930.00	\$25.00	\$46,100.00	\$24.00	\$44,256.00	\$38.00	\$70,072.00	\$26.00	\$47,944.00
45	460300	Soil Nail (#10 Nails)	LF	5,480	\$26.50	\$145,220.00	\$25.00	\$137,000.00	\$27.00	\$147,960.00	\$32.00	\$175,360.00	\$26.00	\$142,480.00
46	475000	Retaining Wall Stem (Type 6)	SF	62	\$375.00	\$23,250.00	\$200.00	\$12,400.00	\$350.00	\$21,700.00	\$200.00	\$12,400.00	\$350.00	\$21,700.00
47	490400A	3" Drilled Hole	LF	150	\$175.00	\$26,250.00	\$50.00	\$7,500.00	\$175.00	\$26,250.00	\$50.00	\$7,500.00	\$65.00	\$9,750.00
48	500001	Prestressing Cast-In-Place Concrete	LS	1	\$80,000.00	\$80,000.00	\$70,000.00	\$70,000.00	\$180,000.00	\$180,000.00	\$70,000.00	\$70,000.00	\$75,000.00	\$75,000.00
49 F	510051	Structural Concrete (Bridge Footing)	CY	315	\$525.00	\$165,375.00	\$300.00	\$94,500.00	\$385.00	\$121,275.00	\$500.00	\$157,500.00	\$650.00	\$204,750.00
50 F	510053	Structural Concrete (Bridge)	CY	1,210	\$665.00	\$804,650.00	\$816.00	\$987,360.00	\$1,925.00	\$2,329,250.00	\$1,000.00	\$1,210,000.00	\$1,215.00	\$1,470,150.00
51 F		Structural Concrete (Retaining Wall No. 2)	CY	65	\$750.00	\$48,750.00	\$1,050.00	\$68,250.00	\$700.00	\$45,500.00	\$1,000.00	\$65,000.00	\$900.00	\$58,500.00
52 F	510085	Structural Concrete (Approach Slab, Type EQ)	CY	30	\$1,500.00	\$45,000.00	\$1,050.00	\$31,500.00	\$800.00	\$24,000.00	\$1,200.00	\$36,000.00	\$2,000.00	\$60,000.00
53	510501A	Drainage Inlet (Type G1)	EA	1	\$4,250.00	\$4,250.00	\$3,600.00	\$3,600.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$3,600.00	\$3,600.00
54	510501A	Drainage Inlet (Type G3)	EA	1	\$4,250.00	\$4,250.00	\$2,800.00	\$2,800.00	\$3,200.00	\$3,200.00	\$2,800.00	\$2,800.00	\$2,800.00	\$2,800.00
55	510501A	Drainage Inlet (Type G4)	EA	1	\$4,250.00	\$4,250.00	\$5,100.00	\$5,100.00	\$3,600.00	\$3,600.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
56 F	511035	Architectural Treatment (Sculpted Shotcrete)	SF	7,662	\$12.00	\$91,944.00	\$20.00	\$153,240.00	\$10.00	\$76,620.00	\$10.00	\$76,620.00	\$12.00	\$91,944.00
57 F	511035	Architectural Treatment (Formed Relief Texture)	LS	1	\$125,000.00	\$125,000.00	\$70,000.00	\$70,000.00	\$130,000.00	\$130,000.00	\$250,000.00	\$250,000.00	\$85,000.00	\$85,000.00
58	511106	Drill and Bond Dowel	LF	148	\$100.00	\$14,800.00	\$60.00	\$8,880.00	\$200.00	\$29,600.00	\$60.00	\$8,880.00	\$55.00	\$8,140.00
59	519100	Joint Seal (MR = 2", Type B)	LF	94	\$125.00	\$11,750.00	\$25.00	\$2,350.00	\$200.00	\$18,800.00	\$70.00	\$6,580.00	\$100.00	\$9,400.00
60 F	520102	Bar Reinforcing Steel (Bridge)	LB	354,000	\$1.05	\$371,700.00	\$1.00	\$354,000.00	\$1.20	\$424,800.00	\$1.25	\$442,500.00	\$1.10	\$389,400.00
61 F		Bar Reinforcing Steel (Retaining Wall)	LB	47,736	\$1.00	\$47,736.00	\$1.00	\$47,736.00	\$1.25	\$59,670.00	\$1.00	\$47,736.00	\$0.85	\$40,575.60
62	530100	Shotcrete	CY	303	\$525.00	\$159,075.00	\$480.00	\$145,440.00	\$900.00	\$272,700.00	\$550.00	\$166,650.00	\$560.00	\$169,680.00
63	566011	Roadside Sign (1-Post)	EA	5	\$425.00	\$2,125.00	\$300.00	\$1,500.00	\$500.00	\$2,500.00	\$350.00	\$1,750.00	\$430.00	\$2,150.00

14-1320 2C 3 of 5

Project #77114: Green Valley Road at Weber Creek Bridge Replacement Project

Contract No. PW 13-30685 Project No. 77114 Project Types Bridge Replacement Project							-	Begin Advertisement: Bid Opening: Anticipated Award:		9/16/14 11/12/14 12/02/14				
				NSTRUCTION ANY, INC.	MCM CONS	MCM CONSTRUCTION, INC.		MJ HUGHES CONSTRUCTION, INC.		MYERS AND SONS CONSTRUCTION, LP.		CC MYERS, INC.		
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
64	597601	Prepare and Stain Concrete	SF	7,662	\$1.50	\$11,493.00	\$5.00	\$38,310.00	\$5.00	\$38,310.00	\$2.00	\$15,324.00	\$4.25	\$32,563.50
65	598001	Anti-Graffiti Coating	LS	1	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$9,000.00	\$9,000.00
66	665012	12" Corrugated Steel Pipe (.079" Thick)	LF	30	\$230.00	\$6,900.00	\$190.00	\$5,700.00	\$50.00	\$1,500.00	\$160.00	\$4,800.00	\$195.00	\$5,850.00
67	665018	18" Corrugated Steel Pipe (.109" Thick)	LF	407	\$210.00	\$85,470.00	\$200.00	\$81,400.00	\$90.00	\$36,630.00	\$200.00	\$81,400.00	\$200.00	\$81,400.00
68	665024	24" Corrugated Steel Pipe (.109" Thick)	LF	105	\$190.00	\$19,950.00	\$320.00	\$33,600.00	\$130.00	\$13,650.00	\$300.00	\$31,500.00	\$320.00	\$33,600.00
69	700615A	24" Corrugated Steel Pipe Inlet (Modified, Type OMP)	EA	1	\$2,000.00	\$2,000.00	\$2,800.00	\$2,800.00	\$1,000.00	\$1,000.00	\$2,800.00	\$2,800.00	\$2,800.00	\$2,800.00
70	700639	36" Corrugated Steel Pipe Inlet (.109" Thick, Type OMP/OMPI)	EA	3	\$3,000.00	\$9,000.00	\$4,400.00	\$13,200.00	\$1,050.00	\$3,150.00	\$4,400.00	\$13,200.00	\$4,300.00	\$12,900.00
71	703460	24" Welded Steel Pipe Casing (Bridge)	LF	58	\$225.00	\$13,050.00	\$175.00	\$10,150.00	\$275.00	\$15,950.00	\$200.00	\$11,600.00	\$300.00	\$17,400.00
72	705007	12" Steel Flared End Section	EA	1	\$600.00	\$600.00	\$550.00	\$550.00	\$700.00	\$700.00	\$500.00	\$500.00	\$560.00	\$560.00
73	705011	18" Steel Flared End Section	EA	4	\$700.00	\$2,800.00	\$600.00	\$2,400.00	\$800.00	\$3,200.00	\$600.00	\$2,400.00	\$610.00	\$2,440.00
74	705015	24" Steel Flared End Section	EA	2	\$900.00	\$1,800.00	\$1,100.00	\$2,200.00	\$900.00	\$1,800.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
75	707117	36" Precast Concrete Pipe Inlet (Type OCPI)	EA	1	\$4,000.00	\$4,000.00	\$2,600.00	\$2,600.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,700.00	\$2,700.00
76	709522	Inlet Depression	EA	1	\$3,000.00	\$3,000.00	\$1,400.00	\$1,400.00	\$1,200.00	\$1,200.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00
77 F	721015	Rock Slope Protection (Light, Method B)	CY	969	\$120.00	\$116,280.00	\$95.00	\$92,055.00	\$85.00	\$82,365.00	\$90.00	\$87,210.00	\$95.00	\$92,055.00
78 F	721017	Rock Slope Protection (Facing, Method B)	CY	143	\$175.00	\$25,025.00	\$135.00	\$19,305.00	\$90.00	\$12,870.00	\$130.00	\$18,590.00	\$135.00	\$19,305.00
79 F	721022	Rock Slope Protection (1 Ton, Method B)	CY	2,092	\$95.00	\$198,740.00	\$110.00	\$230,120.00	\$95.00	\$198,740.00	\$105.00	\$219,660.00	\$110.00	\$230,120.00
80	722020	Gabion (Retaining Wall No. 3)	CY	750	\$350.00	\$262,500.00	\$260.00	\$195,000.00	\$285.00	\$213,750.00	\$260.00	\$195,000.00	\$265.00	\$198,750.00
81 F	729010	Rock Slope Protection Fabric (Class 8)	SY	1,489	\$2.00	\$2,978.00	\$2.00	\$2,978.00	\$4.00	\$5,956.00	\$2.00	\$2,978.00	\$2.00	\$2,978.00
82 F	730046	Minor Concrete (Concrete Apron)	CY	50	\$525.00	\$26,250.00	\$70.00	\$3,500.00	\$450.00	\$22,500.00	\$675.00	\$33,750.00	\$700.00	\$35,000.00
83 F	731516	Minor Concrete (Driveway)	CY	8	\$1,250.00	\$10,000.00	\$1,550.00	\$12,400.00	\$450.00	\$3,600.00	\$1,500.00	\$12,000.00	\$1,650.00	\$13,200.00

14-1320 2C 4 of 5

Project #77114: Green Valley Road at Weber Creek Bridge Replacement Project

Contract No.		PW 13-30685						Bid Opening:		11/12/14				
Project No.		77114						Anticipated Award:		12/02/14				
Project Types	5	Bridge Replacement Project			VIKING CONSTRUCTION COMPANY, INC.		MCM CONSTRUCTION, INC.		MJ HUGHES CONSTRUCTION, INC.		MYERS AND SONS CONSTRUCTION, LP.		CC MYERS, INC.	
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
84 F		Miscellaneous Metal (Retaining Wall No. 1)	LB	10,511	\$10.00	\$105,110.00	\$6.00	\$63,066.00	\$5.00	\$52,555.00	\$6.00	\$63,066.00	\$6.00	\$63,06
85	800321	Chain Link Fence (Type CL-4, Vinyl-Clad)	LF	384	\$35.00	\$13,440.00	\$35.00	\$13,440.00	\$12.00	\$4,608.00	\$35.00	\$13,440.00	\$35.00	\$13,44
86	801360	12' Metal Gate (Maintenance Access)	EA	1	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,00
87	802180	12' Chain Link Gate (Type CL-4, Vinyl-Clad)	EA	1	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$1,350.00	\$1,35
88	820108	Delineator (Class 2)	EA	3	\$60.00	\$180.00	\$60.00	\$180.00	\$60.00	\$180.00	\$60.00	\$180.00	\$65.00	\$19
89	832003	Metal Beam Guard Railing (Wood Post)	LF	439	\$36.00	\$15,804.00	\$40.00	\$17,560.00	\$27.00	\$11,853.00	\$30.00	\$13,170.00	\$39.00	\$17,12
90 F	833088	Tubular Handrailing	LF	495	\$95.00	\$47,025.00	\$90.00	\$44,550.00	\$50.00	\$24,750.00	\$90.00	\$44,550.00	\$95.00	\$47,02
91	839521	Cable Railing	LF	446	\$50.00	\$22,300.00	\$50.00	\$22,300.00	\$33.00	\$14,718.00	\$40.00	\$17,840.00	\$52.00	\$23,19
92	839541	Transition Railing (Type WB)	EA	3	\$4,500.00	\$13,500.00	\$5,000.00	\$15,000.00	\$3,000.00	\$9,000.00	\$3,500.00	\$10,500.00	\$4,600.00	\$13,80
93	839564	Terminal System (Type FLEAT)	EA	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$3,100.00	\$3,10
94	839565	Terminal System (Type SRT)	EA	2	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$3,100.00	\$6,20
95 F	839720	Concrete Barrier (Type 732)	LF	330	\$105.00	\$34,650.00	\$120.00	\$39,600.00	\$100.00	\$33,000.00	\$100.00	\$33,000.00	\$160.00	\$52,8
96 F	839721	Concrete Barrier (Type 732A)	LF	165	\$105.00	\$17,325.00	\$160.00	\$26,400.00	\$110.00	\$18,150.00	\$100.00	\$16,500.00	\$170.00	\$28,0
97	840504	4" Thermoplastic Traffic Stripe	LF	2,684	\$1.50	\$4,026.00	\$0.50	\$1,342.00	\$1.50	\$4,026.00	\$0.75	\$2,013.00	\$1.10	\$2,9
98	840515	Thermoplastic Pavement Marking	SF	84	\$10.00	\$840.00	\$2.50	\$210.00	\$5.00	\$420.00	\$15.00	\$1,260.00	\$11.00	\$92
99	850111	Pavement Marker (Retroreflective, Type D)	EA	74	\$10.00	\$740.00	\$5.00	\$370.00	\$10.00	\$740.00	\$6.00	\$444.00	\$11.00	\$87
100	999990	Mobilization	LS	1	\$689,800.00	\$689,800.00	\$728,791.50	\$728,791.50	\$780,000.00	\$780,000.00	\$795,831.50	\$795,831.50	\$785,500.00	\$785,50
		TOTAL				\$6,898,983.75		\$7,296,458.00		\$7,857,925.00		\$8,128,128.00		\$8,244,35

F Final Pay Quantity

P Item Eligible for Partial Payment

LS Lump Sum

SWD Sign Working Day